Chapter 9

EXERCISE 9-1 (15-20 minutes)

	
	
	
	
	Per Unit
	
	
	
	
	
	Lower of

	
Part No.
	
	
Quantity
	
	
Cost
	
	
Market
	
	Total Cost
	
	Total Market
	
	Cost and Market

	110
	
	   600
	
	$ 90.00
	
	$100.00
	
	$  54,000
	
	$  60,000
	
	$  54,000

	111
	
	1,000
	
	   60.00
	
	    52.00
	
	    60,000
	
	    52,000
	
	    52,000

	112
	
	   500
	
	   80.00
	
	    76.00
	
	    40,000
	
	    38,000
	
	    38,000

	113
	
	   200
	
	 170.00
	
	  180.00
	
	    34,000
	
	    36,000
	
	    34,000

	120
	
	   400
	
	 205.00
	
	  208.00
	
	    82,000
	
	    83,200
	
	    82,000

	121
	
	1,600
	
	   16.00
	
	      0.20
	
	    25,600
	 
	         320
	
	         320

	122
	
	   300
	
	 240.00
	
	  235.00
	
	    72,000
	
	    70,500
	
	    70,500

	Totals
	
	
	
	
	
	
	
	$367,600
	
	$340,020
	
	$330,820


(a) $330,820.

(b)
$340,020.

EXERCISE 9-4 (10-15 minutes)

(a)

	12/31/01
	Inventory

	327,000
	

	
	
Cost of Goods Sold (or 

   Income Summary)

	
	
327,000

	
	
	
	

	12/31/02
	Cost of Goods Sold (or Income
   Summary)

	
327,000
	

	
	
Inventory

	
	327,000

	
	
	
	

	12/31/02
	Inventory

	395,000
	

	
	
Cost of Goods Sold (or 

   Income Summary

	
	     395,000


(b)
	12/31/01
	Inventory

	346,000
	

	
	
Cost of Goods Sold (or 

   Income Summary)

	
	    346,000

	
	
	
	

	
	Loss Due to Market Decline of
   Inventory

	
19,000
	

	
	
Allowance to Reduce Inventory to Market

	
	
19,000

	
	
	
	

	12/31/02
	Cost of Goods Sold (or Income
   Summary)

	
346,000
	

	
	
Inventory

	
	346,000

	
	
	
	

	12/31/02
	Inventory

	410,000
	

	
	
Cost of Goods Sold (or Income Summary)

	
	
410,000

	
	
	
	

	
	Allowance to Reduce Inventory
   to Market

	
4,000*
	

	
	
Recovery of Loss Due to 

   Market Decline of Inventory

	
	
4,000


EXERCISE 9-4 (Continued)

	*Cost of inventory at 12/31/01
	$346,000

	  Lower of cost and market at 12/31/01
	 (327,000)

	  Allowance amount needed to reduce inventory
	

	     to market (a)
	$  19,000

	
	

	  Cost of inventory at 12/31/02
	$410,000

	  Lower of cost and market at 12/31/02
	 (395,000)

	  Allowance amount needed to reduce inventory
	

	     to market (b)
	$  15,000

	
	

	Recovery of previously recognized loss
	= (a) – (b)

	
	= $19,000 – $15,000

	
	= $4,000.

	
	


	(c)
	Both methods of recording lower of cost and market adjustments have the same effect on net income.


EXERCISE 9-6 (10-15 minutes)

(a)  

	Net realizable value – Market
	$45 – $14 = $31

	Cost
	$40

	Lower of cost and market
	$31


$35 figure used – $31 correct value per unit = $4 per unit.

$4 X 1,000 units = $4,000.

If ending inventory for 2002 is overstated, net income for 2002 will be overstated.

(b) Net income for 2003 is understated by $4,000 because the beginning inventory was overstated by $4,000 causing a corresponding overstatement in cost of goods sold.

(c) The current ratio at December 31, 2002 would be overstated since the inventory would be overstated. The inventory turnover for the year ending December 31, 2002 would be understated because the numerator, Cost of goods sold is understated and the denominator in the ratio calculation would be overstated (divided by 2). The debt to total asset ratio at December 31, 2002 would be understated since the denominator, total assets in the ratio would be overstated.

The current ratio at December 31, 2003 would not be affected by an error in inventory at the end of fiscal 2002. The inventory turnover for the year ending December 31, 2003 would be overstated because the numerator would be overstated caused by the beginning inventory error and the denominator in the ratio calculation would be overstated (divided by 2). In the calculation of average inventory the overstated balance in inventory at December 31, 2001 will cause an overstatement of the denominator. The debt to total asset ratio at December 31, 2003 would not be affected by an error in inventory at the end of fiscal 2002.

EXERCISE 9-9 (10-15 minutes)

(a)

	Loss on Purchase Contracts

	35,000
	

	         Accrued Liability on Purchase Contracts

	
	35,000


Since the value at December 31, 2002 is measurable, the amount of the loss for the $35,000 must be accrued. The additional $15,000 loss should also be accrued if the loss is reasonably determined and likely to occur.  

(b)


	Loss on Purchase Contracts

	20,000
	

	         Accrued Liability on Purchase Contracts

	
	20,000


If the recovery of $15,000 was likely to occur and was reasonably determined, it would cause the expected loss on the purchase contract at December 31, 2002 to be correspondingly reduced to $20,000 [$400,000 – ($365,000 + $15,000)].

EXERCISE 9-12 (10-15 minutes)

(a)

	Inventory, May 1 (at cost)
	
	$160,000

	Purchases (gross) (at cost)
	
	  640,000

	Purchase discounts
	
	(12,000)

	Freight-in
	
	    30,000

	
Goods available (at cost)
	
	818,000

	Sales (at selling price)
	$1,000,000
	

	Sales returns (at selling price)
	     (70,000)
	

	Net sales (at selling price)
	930,000
	

	Less gross profit (30% of $930,000)
	     279,000
	

	Estimated cost of goods sold
	
	  651,000

	
Estimated inventory, May 31 (at cost)
	$167,000


(b)   Gross profit as a percent of sales must be calculated:

	
	30%
	= 23.08% of sales.

	
	100% + 30%
	


	Inventory, May 1 (at cost)
	
	$160,000

	Purchases (gross) (at cost)
	
	  640,000

	Purchase discounts
	
	(12,000)

	Freight-in
	
	    30,000

	
Goods available (at cost)
	
	818,000

	Sales (at selling price)
	$1,000,000
	

	Sales returns (at selling price)
	    (70,000)
	

	Net sales (at selling price)
	930,000
	

	Less gross profit (23.08% of $930,000)
	    214,644
	

	
Estimated cost of goods sold 
	
	  715,356

	

Estimated inventory, May 31 (at cost)
	$102,644


EXERCISE 9-22 (25-35 minutes)

(a)
Conventional Retail Method

	
	
	
	

	
	Cost
	
	Retail

	Inventory, January 1, 2003
	$  38,100
	
	$  60,000

	Purchases (net)
	  130,900
	
	  178,000

	
	  169,000
	
	  238,000

	Add markups (net)
	________
	
	    22,000

	
	$169,000
	
	  260,000

	Deduct markdowns (net)
	
	
	    13,000

	Sales price of goods available
	
	
	  247,000

	Deduct sales (net)
	
	
	  167,000

	Ending inventory, at retail
	
	
	$  80,000


	Cost-to-retail ratio =
	$169,000
	= 65%

	
	$260,000
	


        Ending inventory at cost = 65% X $80,000 = $52,000

(b)
Average Cost Retail Method

	
	
	
	

	
	Cost
	
	Retail

	Inventory, January 1, 2003
	$  38,100
	
	$  60,000

	Purchases (net)
	  130,900
	
	  178,000

	Add markups (net)
	
	
	    22,000

	Deduct markdowns (net)
	_______
	
	   (13,000)

	
	$169,000
	
	  247,000

	Deduct sales (net)
	
	
	  167,000

	Ending inventory, at retail
	
	
	$  80,000


	Cost-to-retail ratio =
	$169,000
	= 68.4%

	
	$247,000
	



Ending inventory at cost 
